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In what ratio must a mixture of 30%
alcohol be mixed with that of 50% alcohol
———

so as to get a mixture of 45% “alcohol?
30% QRTE FHT AMET 91k AT F 50%
AT g fAeor 7 e 3reTaTd )
e T ST fF 7T AS0T F 45% R

gl
a)3:1 //1:3
c)3:5 d)10:9
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The average of marks scored by 250
students of a class is 54. The average
— ————7

of the marks of the girls in the class is
80 and that of boys is 30. What is the
number of boys in the class?

Uh H&T H 250 BET & HH &I
dtaa 54 g1 afe asfFat & i
T 3t 80 dUT oSHI & 3Pl &I
AT 30 @, O ®&T F FdSH fir
&A1 A

a) 120 b) 150
c) 100 130




A container contains 20 L mixture in which

. 3A there is 10% sulphuric acid. Find the quantity
'MI\);- J of(sulphuric acid)to be added |r@’c‘5)§nake the
/O'/. IOO‘/' solution to contain 5% sulphuric acid.
"N/ TF FEAT A 201 TAHOT T ¥ Forwe
2% 10% HePRE IFa §| Reaa & gophs
> HFS T AET 25% A & foaw fAsor &
45 ] fraelt aEn F wepRe s fRarm S
> L fe)
o L uL A4 b) 2L 5L d)3L
mix SA
M. 0y
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In 50 gms alloy of gold and silver, the gold is
80% by weight. How much gold should be
mixed to this alloy so that the weight of the

gold becomes 95%?
50 AA & Faemg # | 3 Al d)

S @l # T HK 80% R forsremg &
fFaqaT |1 BEET ST & @ # 64R

95% @ JATT|
a) 200 \yﬁso

c) 100 d) 300
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A merchant has 1000 kg of sugar, part of
which he sells at 8% profit and the rest at
18% profit. He gains 14% on the whole.

The quantity sold at 18% profit is:
TS SANRI & 9 1000 kg T g,

S $o fewwm ar 89 «mer WX auUr
AY F 18% WIS IT I=ar § e @
aﬁﬁraﬁu%aﬂwa&n ar 18%
T fraet e adt e’
a) 560 kg ﬂaoo kg
c) 400 kg d) 640 kg




A man bought a horse and a carriage for
s.40,000. He sold the horse at a gain of

C,P C?c 10% and the carriage at a loss of 5%. He
H gained 1% on whole transaction. The cost
'l']@/ -5 price of the horse was:

T <gfdd o U& =8 3iX v o
40,000 ¥ # @EN 3T €2 A 10%

+17. & AT X qAT ST F 5% N FIA W
a7 feam @ oGl & 3 1% T oam
& F gam, mmmmﬂ}mw
, - a) Rs.15, 000 Rs.16,000
LZ © 3} c) Rs.18,000 d) Rs.20,000
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A man purchased two fans for Rs.2160.
By selling one fan at a profit of 15% and
the other at a loss of 9% he neither gains
nor loses in the transaction. Find the cost
price of each fanin Rs.
TF gfdd F @ 9@ @il 394 '
@ H 15% HT A W TAT gAY H
9% @ gify X a=m Ife @ wig &
3@ FE A AT g ad gs,
IAF T F FT Aed A9
a) 710,1450 b) 1530,630
810,1350 d) 1340,820




Mr. Mani invested an amount of Rs.12000
at the simple interest rate of 10% per
annum and another amount at the simple
interest rate of 20% per annum. The total
interest earned at the end of one year on the
total amount invested became 14% per
annum. Find the total amount invested.
st At F 12000 ¥ Fr TFH et *¥
10% 9fAda¥ & ¥ W AURI A W
aYT TF qEdl geelt #1209 gfdad &
e W HTEROT sArer 9X favaer fam afy
T & 3d # Fo aRN W AT gam
WWM%g’raﬁ ar forder A wE
erelt AT X

Rs.20000 b) Rs.8000
c) Rs.28000 d) Rs.18000
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Mr. Radhey has Rs.12,000. He lent

A 2 certain portion of this moneyto A @ 7%
2 / p.a. simple interest and the remaining to
77 ’ ' B @ 12% p.a. Simple interest. If after_3
years, Radhey altogether receives
' _Rs.3600 as interest from A & B, then
m/ 120D suradent to B is:
‘ y 2 |20 fATY & 9 12000%F g? 9§ SUH
S, ¥ Fo REWA F 7% ¥ T T T
S af% #T REAT B A 12% qNSF &<
2 3R &aT 8| 3 auf 91 U A} Fea
12006% % 3600 F sUTT & dl W Ao 3§
__—__fi_ I ATl |TUROT sAqTST 91T @ ar
/5 B &I &I a1¢ UM gar +:X?
a) Rs.4800 b) Rs.6000
‘/%;5.7200 d) Rs.9000
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Pure ghee costs Rs.100 per kg. After
adulterating it with vegetable oil
costing Rs.50/kg, a shopkeeper sells

the mixture at Rs.96 /kg, thereby

making a profit of ZQOé In what ratio
6

does he mix the two?

Y oY F FAeT 100 %/ﬁm’r%l

50 S/fFeT T dNIT S AT
da & Wiy fAdmEe & F 9%,

Th GHEGR FH 8I'UT N 96
S/fFal & T dgar & oud
20%a7rma¢g1m%| ar &t F
e sreara & 2
a)1:2 3:2
c)3:1 d) None
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8 liters of water is added to a certain

quantit§ of pure milk costing Rs. 16 per
liter. If by selling the mixture at Rs.20

per liter, a profit of 33.33% is made,

what is the amount<of p,ure itk _in the
mixture? o
ofy frat ara

16 T QU $ FS
A # 8 oY g AT Sar 8
X 39 AHor #F 20 wo gfa
MleT & 9T HT 33.33% T ATH
gl & & fsor F gu g & A
CRIE ]

a) 90 b) 100

120 d) 150

| | 12
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In a town, the population was 8000.
In one year, male population increased
by 10% and female population
increased by 8% but the total
population increased by 9% . The
number of males in the town was:

TH AT T 8000 S@EAT Al
UF a¥ F qeE A gEdm F 10%
aur ARenst i G F 8y A
T g F FROT Fd STATEAT
# 9% & TP & o ¥ e
A geul T FEdr Fqr d?

#4000 b) 4500

c) 5000 d) 6000
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A manufacturer has 200 liters of acid solution

T II: which has 15% acid content. How many liters
of acid solution with 30% acid content may be

|6/ '2)0~/ added so that acid content in the resulting
‘,257' mixture will be more than_gg_f’/g but less than

25%?
5/- Jo Tdh 3UIGH & I 200 e IHFa &1
P Rrsor & SWd 15% e 8] 30% 3Fd
| 2 @ AT gt frdem Asor gwe A
aﬁuaﬁmaﬁrﬁamm% ¥
WL AT 25% @ FA @ TA?
a) More than 100 liters but less than 300 liters
b) More than 120 liters but less than 400 liters
More than 100 liters but less than 400 liters
d) None of the above
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[



180 pens are divided into three types
A, B & C. All three types of pens are
sold at the profit of 12%,25% and
18% respectively. Overall profit from
type A and Byis 19.8%, Overall profit
from all three types is 19%. Find the
number of type A pens.

180 FAT FT A, B 3 ¢ T v
H der | il geR 1 wAH
HHA: 12%, 25% 3 18% & w9
W &=t =AY A 3B ER & FaAl
N fAAHT 19.8% FT AT g3
AR ¥ AT F FoA 19% FT T
g3m| "A THR ¥ HedAr T wEd
a3

_4) 40 b) 60

c) 80 d) 100
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The concentration of three milk
solutions A, B, and C are 10%,
20% and 30% respectively. They
are mixed in the ratio

:N_ resulting in a 23%
concentration solution. Find N.
et SO A, B 3R C & g #
gfaerd FAT: 10%, 20% 3R
30% 8] $THN 2:3:N F I
¥ B ¥ gu 23% @ S
g, dYN FT AT Far3i]

a




7L L gL 2L
OM+W=nNM
2y 0F 25y 1097
260 TQ T2 Yoy,

QD _ ooy &F 5

When 1 liter water is added to original
mixture of milk and water, the new

mixture contains( 25% milk)and when 2

liter milk is added to the new mixture, the

resultant mixture contains 40% milk.

_"_
What is the % of milk in the original
mixture?

afg qu AR aelt F qa Fmor F 1
e o Remar Srar § @ 73 Ao
F T AET 25% @i & 99 3@
aF TAHOT A 2 e qu FHemrr S
g @ ddiedaw sor # qu 7 AE
40% @t ¥ AF BT A qu fraw
gfaera oar?

a) 33.33% b) 50%
28.57% d) 30%

| | 17



When one liter of water is added to a
mixture of acid and water, the new
mixture contain When 1 liter
of acid is added to the new mixture, then
p—

the resulting mixture contains 33 - %

acid. The percentage of acid in the original
mixture was

9 UF el Ul &Y, JFAT 30 g
F TH AHor & RAea—m I @t v
frsor & FT A ATET 20% B §
A9 1L FFA S A0 RAsor & A

S al, urea fAsor & 332 %maﬁr
AT BT B A ST # aFa @
yferd AT

a)20%  b)22%

)24%  g/25%

| | 18
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